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1.   Evaluate . 

[Solution] 

Let , where , then . 
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2.   Evaluate . 

[Solution] 

Let , where , then . 
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3.   Evaluate . 

[Solution] 

Let , where  or , then . 

When ,  and when , . 
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Thus  

                                     

                                     

                                     

                                     

                                     

                                     

 

4.   Evaluate . 

[Solution] 
Let , then .  

When ,  and when , .  

Thus  

Let , where , then .  

When ,  and when , . 
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5.   Let  be the region bounded by the function  and -axis on the 

interval . 
 

Find the area of the region . 
[Solution] 1 
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When ,  and when , . 

Thus  

              

              

              

 
 

 
 
 

6.   Evaluate . 
 

[Solution] 
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7.   Evaluate . 
[Solution] 
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8.   Evaluate . 
[Solution] 

Let  where  or , then . 
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9.   Evaluate . 
[Solution] 
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